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Chapter 13 (Part 1) Review
M.

In &AXWZ at the right, VY Il Wa. If VY = 7, a)
WX = 16.8, VX = 8, and XY = 6. Find each W l'z—
length to the nearest tenth. b) o
LS
a. W2 7y o
b. Xx=Z
4
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In &AXWEZ at the right, VY Il Wz. If vy = 5, a) H-CJ
WX = 18.4, VX = 8, and XY = 4, Find each Y q Z
length to the nearest tenth. b) .
a. Wa
b. xz
1N
q 5
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In AMNP at the right, oQ Il NM. a) CLL\I—D
If MN = 11, PO = 7, 0Q = 8, and MP = 1 2(9'5

Find each length to the nearest tenth.
a. PQ
b. ON
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In the figure below, is DEBF a parallelogram? 4) Since, __1_5___ _ g._']_
Why or why not? 26 = L\c)/

5 ¢ 27 we know DE/ZBC.
25 T Mo 25 g

> | Since ','% =,

S we know DF//AB.
1% _ WS Sinee opposiie side:
(=) 27

ave /) DEBF 1S
|72 = 1%/ 0 povaildogram.
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In the figure below, is DEBF a parallelogram? 5) NOJ %\hu Hi%- # _Z‘_%)

Why or why not?

45 2 20 A 27 DF is not+ /Z to

—

2.2-'[ I;: 15 \ D A% <o DERF
s # 17 § o't be A

25
pavallclogram.
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In AABC at the right, is BC il DE? /
Why or why not? ac” DEw e
/ nFo.
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In figure at the right, AE = 3, CE = 8, 7)
EB = 12 and DE = 5. Are the triangles
similar? Justify your answer.

. Z g_-
No, since 2 # 55 There
Grent  propovtional
81 €< b

In figure at the right{ DE = 32) AE = 24, 8)
EB = 48 and CF = 36.)Are fiangles ¢
similar? Justd your answer. A 71y
24

E
M 3 Yes, loj, %Ag,
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veryi ah%lf?
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Are the triangles at the right similar? 9
Justify your answer.
27z 5 T 3k N
E TR 48
15 =.7% = 715 27

By 55, the AS
ave Sypnlar.

Use the figure at the right, is AOPQ
similar to &ANPM, if MP = 1.8(PQ) and
NP = 2(0P)? Justify your answer.

No Singe
Pa  _, OF
.¢-PQ ia 2-0P

l,

1. 2.
Are the triangles at the right

—————xgt
similar, if XY Il Wz and XV il YZ?

Justify your answer. -

{X\f\/ ¥ /WYZ and
ZXYN ¥ LYWZ ove
alevnate intevioy anglcs.

Consider the figure at the right,

is &AMPQ similar to AQNP? .
Justify your answer. _

Yes, by AA (£MPQ = /i\
LPNQ=40", £ =/Q)
Are the triangles at the right 13)

similar, if SW H TU? S’/,_;.f’j T 765’ \ay AA

Justify your answer.

LSVW=/ VST =q0°

L ZWSV & ZSUT are " VTS
AA
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Consider the figure at the right, A B 14)
is AABE similar to A CDE? Yes, by AA

Justify your answer. LAEB:LDEC/ SN (Y
they ave vevhal,

D > ¢ ZABE =/EDC since
hey ave AlA.
A telephone pole casts a shadow that is 10 m 15) ZO- ZL\ m

long. At the same time a person who is 1.7 m
tall casts a shadow that is 84 cm long. How
tall 1s the telephone pole?

1 _ X
e 2110
g 1.
After takeoff, an airplane hd® reached an 16} UU)U)UJ.U? ‘F"\'-

altitude of 2000 feet. If the ground distance
at this point is 1.5 miles, what altitude

will the plane reach when the ground distance
is 5 miles? Assume that the plane is ascending

at a constantj_ rate. —-—5—— B ‘ f
Coone? X~ 2000
A toll booth--i; -l;ca—tted t'iréé%-fourths of 17) L‘(KD {'4‘
the way up a_2,640_ft ramp as sl'.lown a) kb l
elow, it Siri Bilip: sisposcing ch 0 2597.3 £+

distance on the ground from the lower end
cf the ramp to that pillar is 1,948 ft.

a. Find the height of the pillar at

the end of the ramp. a 2040
b. What is the total ground distance from ) -
the lower end of the ramp tc the upper a 3(90 MBO

2610

toll booth
py 18 10

o L 2040

1
1
i
1
1
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149 k
\/_W%_/ second

L, piller pillar
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As shown below, a 12-foot ladder leaning
against a 6-foot fence touches a
building. The distance from the base of
the ladder to the fence is 4 feet, and
the distance from the fence toc the
building is 6 feet.

a.

b.

How high up the building does

the

How
the

ladder reach?

far is it from the base of
ladder to the point at which

it rests on the fence?

NS .
e Build
v builal
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Use the street dg%gram shown below.

a. Find x.
b. Find vy.

* Chonk. Metnod!

130m

200m

LA
b

160m

120m

5th.
Ave

4th.

Ave.

200m

Latrobe

3rd.
Ave.

0
Q
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LY
b) =%
) 155m
b) 72725 m.
= 0
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20. Residents pay an assessment based on their
frontage along Washington Boulevard. What
part of the total assessment is paid by
the residents of each lot?

a. Lot A
b. Lot B
P
56' T 3~ Lincoln Avenue
IN A
A B D
nilln 1 156 208" B
51 \D%ashin,gton Bulevard
L 520 —————

224 208

—
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L A= .1 or |0/
v B= .2 or 207/




